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@ #include <iostream.h>
@ #include <iostream.c>
® #include <iostream>
@ #include "iostream™
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® Stack
@ Queue
@ Heap
@ Linked-list
(3] 4. THIHE—{E 2 HEE = a*(b+c)-d HyATFF=(prefix expression) ?
® *a+bc-d
@ *a-+bcd
® -*a+bcd
@ -a*+bcd
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for x =y =0; (y I=123) && (X < 4); x++);
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int f(int x, inty) {
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if (x==y){
return O;
}else {
return f(x — 1, y) + 1;
}
}
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inti=1;
do {
System.out.print(++i);
} while (i < 2);
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@ Index out of bound
@ Diamond problem
® Stack overflow
@ Race condition
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public class Exam1 extends Thread{
private int x=2;

new Examl().dolt();}
public Exam1(){
x=3;
start();}
public void dolt() throws Exception{
join();
X=x+1;
System.out.printin(x);}
public void run() {x *=2;}

public static void main (String[] args) throws Exception{

}
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void main (void) {
int i=3, x=1;
switch (i) {
case 1: x++;
case 2: X++;
case 3: x++;
case 4: x++;
default: x++;
1}
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[4] 12 T %20 > "statement 5 ST 4620 2 F-4:

for (i=0; i<n; i++) RRT(n)EEL -
for (j=i; j<n; j++) {statement;} 0, n=2~0
T(n) = 1, n=1
@ (n-1)? T(n—2)+3T(n—1), n=2
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@® ArraylndexOutOfBoundsException
@ ArrayStoreException
® NegativeArraySizeException
@ StringIndexOutOfBounds
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® do ... while @ for
® foreach @ while
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(=) FR (=) HYREEHETELUR BREAE B R ERVE A - [10 47]

@ (22>77) || (50>45)
® “John" > "Bob"
® (30+50) < 70
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}
printf("%d", x & 1);
}
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